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1. For the function 
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a) Evaluate 
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b) State the domain.

2. For the function 
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a) Evaluate 
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b) State the domain.

3. For the function 
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a) Evaluate 
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b) State the domain.

4. Solve the equation 
[image: image7.wmf]523212

2810

xxx

-=

 by factoring.

5. Perform the indicated operations and simplify.     
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6. For the function
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7. Find the following logarithms:

a) 
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b) 
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c) 
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d) 
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e) 
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8. For the functions 
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, find and simplify.
a) 
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b) 
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9. The expression 
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 is equivalent to:
A.     
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          C.   
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          D.  none of these
10. Simplify.     
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11. Perform the indicated operation.    
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12. Perform the indicated operation.    
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13. Given the function  
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a) State the domain.

b) Simplify.

14. Perform the operation and simplify.  Leave answer with only positive exponents. 
         
[image: image28.wmf]1353

xx

--

×


15. Perform the operation and simplify.  Leave answer with only positive exponents.
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